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I. Vocabulary

1. Due to extremely low rainfall and a dangerous reduction of reservoir water, the
area 1s experiencing the worst in 30 years.
(A) scandal (B) nuisance (C) drought (D) fluid

2. Instead of giving negative criticism, our teachers usually try to give us
feedback so that we can improve on our papers.
(A) peculiar (B) constructive (C) influential (D) absolute

3. To keep healthy, Mr. Lin himself to one glass of wine a day.
(A) pursues (B) restricts (C) seizes (D) stripped
4. Taking advantage of a special function of the search engine, users can the
Internet without leaving behind any history of the webpages they visit.
(A) stride (B) conceal (C) browse (D) rumble
5. The fog was too thick for planes to take off; , all the flights would be
delayed.

(A) aggressively (B) somehow (C) architecturally (D) consequently

6. For a company to make real progress, employees need to be able to express their
feelings without fear of :
(A) retribution (B) distribution (C) attribution (D) contribution



II. Reading comprehension

In many languages, such as English, there is no straightforward way to talk about smell.
For want of dedicated odor terminology, English speakers are often forced to use
odor-sources such as “flowery” and “vanilla” and metaphors like “sweet” and “oriental” in
their descriptions of smell. But the difficulty with talking about smell is not universal. The
Manigq, a group of hunter-gatherers in southern Thailand, can describe smells using at least
fifteen different terms, which express only smells and are not applicable across other
sensory domains. In addition to Maniq, researchers found that there are also a dozen words
for various smells in Jahai, a language spoken by a neighboring hunter-gatherer population.
Interestingly, the difficulty for English speakers to translate smell directly into words seems
to have very little to do with the nose’s actual capabilities. According to findings of a recent
study, English speakers are capable of discriminating more than a trillion different odors.
Then, why is there a gap between their ability to discriminate scent and their vocabulary?
The researchers suggest that surroundings may play a significant role.

Maniq and Jahai speakers live in tropical rainforest regions with a hunting-gathering
lifestyle, and these two ethnic groups evaluate their surroundings through their noses to
survive in nature. In an environment that is still largely untouched by humans, they are
surrounded by smells at all times. They need to use their sense of smell to identify animals
that they can hunt, and to recognize objects or events, such as spoiled food, that can pose a
danger. Unlike the Maniq and the Jahai, many English speakers inhabit the post-industrial
west and do not rely on smells to survive in their environment. This difference may explain
the interesting linguistic phenomenon discussed above.

7.  What is the purpose of this passage?
(A) To evaluate the languages used by different ethnic groups.
(B) To point out the link between language use and the environment.
(C) To describe how terms of smell are found in different languages.
(D) To prove how civilization slows down language development.

8. What does the word “want” in the first paragraph most likely mean?
(A) Loss. (B) Growth. (C) Lack. (D) Search.

9.  Which of the following is true about the Maniq?
(A) Their living environment is similar to that in earlier human history.
(B) Their ability to smell is stronger than that of the Jahai.
(C) They use smell terms to describe how food looks and tastes.
(D) They live in a different climate zone from the Jahai.

10. Why is it difficult for English speakers to describe smells directly?
(A) There are not many sources of odor in their surroundings.
(B) The sense of smell is not critical for their survival.
(C) They cannot distinguish the smells around them.
(D) They consider it uncivilized to talk about smells directly.
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